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QUESTION 1

What is the role of 5G in meeting the automation needs of Industry 4.0?

A. 5G plays a minor role on Industry 4.0 because the requirements are mainly focused on mMTC and loT.

B. 5G requirements for Industry 4.0 are mainly focusedon Ultra high bandwidth needs.

C. 5G plays an important role on Industry 4.0 because it enables the cloud automation with baremetal platforms.

D. 5G requirements for Industry 4.0 are mainly focused on ultra low latency characteristics but also fromhigh throughput
and massive connectivity.

Correct Answer: D

QUESTION 2

What is the purpose of the secondary authentication feature?

A. To improve authentication between the User Equipment and the 5G Core.

B. To improve authentication when connecting to different network slices.

C. To authenticate the User Equipment comingfrom an untrusted non-3GPP access (N3IWF).
D. To authenticate the User Equipment with an external data network.

Correct Answer: A

QUESTION 3

Which of the following drive 5G low latency? (Choose two.)

A. Support ofup to 1 billion of I0oT and sensors devices per km2
B. Lower Time Transmission Interval (TTI)

C. Higher spectral efficiency

D. Edge Clouds

Correct Answer: BC

QUESTION 4
Which of the following statements about Network Slicing are correct? (Choose three.)

A. Multiple slices create multiple virtual network instances.
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B. Unique Quality of Service can be allocated to a given slice.

C. Specific resources can be allocated to a given slice.

D. Network Slicing is a way to physically partitionthe common network infrastructure.

Correct Answer: ABC

QUESTION 5

What is the main benefit of Cloud RAN?

A. Increased cell coverage

B. Better latency

C. Reduced cost by centralizing some radio functionalities
D. Increase radio throughput

Correct Answer: D

Reference: https://www.fujitsu.com/us/Images/CloudRANwp.pdf (4)
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